Installation Instructions for

T-Bar Connector

920MOTBAR

700MOTBAR_ 18

TECHLIGHTING

SPECIAL INSTALLATION

GENERAL PRODUCT INFORMATION: (SERTE,

o

us
¢ LisTE

This product is used with rigid and adjustable MonoRail
standoffs.

Install the T-Bar Connector

<«—TAB

GRID

ED Sclect the locations on the grids where the standoffs
will be mounted.

B Push the T-bar connector flat section against the
grid. Rotate the T-bar connector until the tabs on the T-
bar connector snap behind the grid.

Install the 2" Rigid Standoff

[ 1

(=" —)
T E<€—— THREADED STUD
nippLE—>-=4EH

ADAPTER POST——»

#6-32 SET SCREW

HOUSING NIPPLE
1/16 ALLEN

MONORAIL A WRENCH

<€¢— HOUSING

D Screw the nipple to the threaded stud.
B Screw the adapter post completely to the nipple.

ED Push the housing nipple onto the standoff adapter and
tighten the #6-32 set screw on the housing nipple
snugly with the 1/16 Allen wrench.

I Put the MonoRail into the housing.

B Loosen the #6-32 set screw on the housing nipple so
that it can turn easy.

B Screw the housing nipple to the housing tight by
turning the housing nipple clockwise.

E® Tighten the #6-32 set screw on the housing nipple with
the 1/16 Allen wrench.



Install the Rigid Standoff

Install the Adjustable standoff

2A] .

f \ 7z { )]
<€ THREADED STUD

NIPPLE 1/16 ALLEN

B E S WRENCH

STANDOFF POST ——»
N\ #6-32

SET SCREW

STANDOFF ROD —»>|

1/16 ALLEN
WRENCH

& !

Vi

#6-32
SET SCREW

HOUSING NIPPLE

MONORAIL

\
54— THREADED STUD

niprLE—>-=4¢l 116 ALLEN

D S WRENCH
STANDOFF POST ——»
N\ #6-32

SET SCREW

&—— AIRCRAFT CABLE

@
B 1/16 ALLEN
WRENCH

ol

a
\ #6-32

SET SCREW

HOUSING NIPPLE

MONORAIL

E‘; HOUSING

B Screw the nipple to the threaded stud.
B Screw the standoff post completely to the nipple.

ED Push the standoff rod completely into the standoff post
and tighten the #6-32 set screw with the 1/16 Allen
wrench.

B Push the housing nipple onto the standoff rod and
tighten the #6-32 set screw on the housing nipple
snugly with the 1/16 Allen wrench.

B Put the MonoRail into the housing.

I Loosen the #6-32 set screw on the housing nipple so
that it can turn easy.

ED Screw the housing nipple to the housing tight by
turning the housing nipple clockwise.

8 Tighten the #6-32 set screw on the housing nipple with
the 1/16 Allen wrench.

SAVE THESE INSTRUCTIONS!

LH HOUSING

D Screw the nipple to the threaded stud.
B screw the cable post completely to the nipple.

ED Feed the aircraft cable into the cable post and tighten
the #6-32 set screw with the 1/16 Allen wrench.

D Feed the aircraft cable into the wire grip by pushing the
tab down and pulling the cable from the side hole of
the post.

B Loosen the #6-32 set screw on the housing nipple with
the 1/16 Allen wrench so that it can turn easily.

) Place the MonoRail into the housing and screw the
housing nipple to the housing tight.

D Tighten the #6-32 set screw with the 1/16 Allen wrench
and trim off excess aircraft cable.

TECHLIGHTING

7400 Linder Ave, Skokie, IL 60077
847.410.4400

www.techlighting.com
© 2008 Tech Lighting, L.L.C. All rights reserved. The "Tech Lighting" graphic is
a registered trademark of Tech Lighting, L.L.C. Tech Lighting reserves the right
to change specifications for product improvements without notification.
A Generation Brands Company



	Page 1
	Page 2

